Implicit restarts

Idea: mix Arnoldi with the QR algorithm in order to

apply a filter.. In first case filter t-0

we have done m steps of Arnoldi - result:

AVn =Vn Ho + V enT

(A-6TI)Vn=Vn (Hnh - 8 I)+ VenT

(Hn - 8 I) = QR all matrice m x m

(A -906I)Ven=VaQR + VenT - multiply by Q to the right
(A -6 1I)VeQ =VmnQ (RQ) + V enTQ

H = QR then H* = RQ ==> one step of the QR algorithm
shift back [add 6 I ]

A VaQ = VaQ (RQ +8 I) + V enTQ
Vmni Hm1 bnT
A Vnl = Val Hnl + V baT

Hnl = Hessenberg

Jacobi-Davidson
We want:

A(z +Vv) = (n+n)(ztv) - M (z + V) = (U + n)(ztv)

(M-pI) v -nz=- (Mz - puz) + nv
=== r ==== === small
solve:
(M-pI)v -nz = -r
wH v =0

system of (n+1)x(n+1l) equations.

v=-(M-pI)"ir + n (M-puI)-1z



